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Section 7.1 The Sine law
State the Sine Law:
1.
Write two ratios that are equivalent to 
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2.
Solve for each unknown side, to the nearest half of a unit.
a)
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sin32°sin60°
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b)
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c)
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d)
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3.
Solve for each unknown angle, to the nearest degree.
a)
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b)
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c)
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d)
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4.
Determine the length of each side, to the nearest tenth of 
a unit.
a)
side a
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b)
side e
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16 cm




c)
side i
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45°

200 m




d)
side k
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105°

409




5.
Determine the measure of each angle, to the nearest degree.
a) (A
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b)
(E
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25 in. 18 in.




c)
(G

[image: image18.jpg]14.5m

85S

12.6 m




6.

A lighthouse keeper spots an iceberg. The captain of a ship also sees the iceberg. The diagram shows their readings. How far is the ship from the iceberg? Express your answer to the nearest mile.
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7.
A surveyor spots a ship that is 
2.5 km away. Her line of sight with the ship makes a 40° angle with the 
shoreline. Her assistant along the shoreline spots the same ship 
1.8 km away. What is the measure of the angle at the assistant?
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